












































SPECIFICATIONS
SPECIFICATIONSP.T.O. TYPE VARIATION
GX120T2

*: Remote type

P.T.O. type KR L Q
Type ARH L1C1 LH LH2 LHL LJ LTK1 QD QH QHB1 QMP4

Air cleaner Dual
Dual silent
Cyclone
Low profile
Oil bath
Semi dry
Rammer

Muffler Standard
Standard (With lower protector)
Silent
Low profile
Low profile (With protector)
Rammer

Spark arrester
Fuel gauge
Remote choke lever
Control base Manual

Remote* Internal
Internal S
EXP
Norton

Fixed throttle operation
Charge coil 1 A

3 A
7 A

Lamp coil 12 V - 15 W
12 V - 25 W
12 V - 50 W

Combination switch
Starter motor
Oil level switch
Engine stop switch
Oil Alert® unit
Circuit protector
Auto throttle
Reduction Gear (1/6)

Chain (1/2) Without clutch
With clutch
Camshaft P.T.O.

Chain (1/1)

·Internal S
·Norton

·Internal
·Norton

·EXP



SPECIFICATIONS

P.T.O. type Q S
Type QTN QX S1P4 SAJ SD SD2 SJ SK SM11 SMJ SYA

Air cleaner Dual
Dual silent
Cyclone
Low profile
Oil bath
Semi dry
Rammer

Muffler Standard
Standard (With lower protector)
Silent
Low profile
Low profile (With protector)
Rammer

Spark arrester
Fuel gauge
Remote choke lever
Control base Manual

Remote Internal
Internal S
EXP
Norton

Fixed throttle operation
Charge coil 1 A

3 A
7 A

Lamp coil 12 V - 15 W
12 V - 25 W
12 V - 50 W

Combination switch
Starter motor
Oil level switch
Engine stop switch
Oil Alert® unit
Circuit protector
Auto throttle
Reduction Gear (1/6)

Chain (1/2) Without clutch
With clutch
Camshaft P.T.O.

Chain (1/1)



SPECIFICATIONS

P.T.O. type T V W WB
Type TH TX VSP VSX VSX1 VT W1A3 WMK WBT

Air cleaner Dual
Dual silent
Cyclone
Low profile
Oil bath
Semi dry
Rammer

Muffler Standard
Standard (With lower protector)
Silent
Low profile
Low profile (With protector)
Rammer

Spark arrester
Fuel gauge
Remote choke lever
Control base Manual

Remote Internal
Internal S
EXP
Norton

Fixed throttle operation
Charge coil 1 A

3 A
7 A

Lamp coil 12 V - 15 W
12 V - 25 W
12 V - 50 W

Combination switch
Starter motor
Oil level switch
Engine stop switch
Oil Alert® unit
Circuit protector
Auto throttle
Reduction Gear (1/6)

Chain (1/2) Without clutch
With clutch
Camshaft P.T.O.

Chain (1/1)



SPECIFICATIONS

GX160T2

P.T.O. type L N Q
Type LDW LHB3 LJG LSK NJG QHB1 QHP1 QM QMPB QTB QTD

Air cleaner Dual
Dual silent
Cyclone
Low profile
Oil bath
Semi dry
Rammer

Muffler Standard
Standard (With lower protector)
Silent
Low profile
Low profile (With protector)
Rammer

Spark arrester
Fuel gauge
Remote choke lever
Control base Manual

Remote Internal
Internal S
EXP
Norton

Fixed throttle operation
Charge coil 1 A

3 A
7 A

Lamp coil 12 V - 15 W
12 V - 25 W
12 V - 50 W

Combination switch
Starter motor
Oil level switch
Engine stop switch
Oil Alert® unit
Circuit protector
Auto throttle
Reduction Gear (1/6)

Chain (1/2) Without clutch
With clutch
Camshaft P.T.O.

Chain (1/1)



SPECIFICATIONS

P.T.O. type Q R S
Type QTN QX R1P0 R1U0 RMD SJG SJH SM11 SMJ SMJ1 SNX

Air cleaner Dual
Dual silent
Cyclone
Low profile
Oil bath
Semi dry
Rammer

Muffler Standard
Standard (With lower protector)
Silent
Low profile
Low profile (With protector)
Rammer

Spark arrester
Fuel gauge
Remote choke lever
Control base Manual

Remote Internal
Internal S
EXP
Norton

Fixed throttle operation
Charge coil 1 A

3 A
7 A

Lamp coil 12 V - 15 W
12 V - 25 W
12 V - 50 W

Combination switch
Starter motor
Oil level switch
Engine stop switch
Oil Alert® unit
Circuit protector
Auto throttle
Reduction Gear (1/6)

Chain (1/2) Without clutch
With clutch
Camshaft P.T.O.

Chain (1/1)



SPECIFICATIONS

P.T.O. type S V
Type ST SYA VH VHB VPM6 VSW3 VSW5 VSX VSX1 VX

Air cleaner Dual
Dual silent
Cyclone
Low profile
Oil bath
Semi dry
Rammer

Muffler Standard
Standard (With lower protector)
Silent
Low profile
Low profile (With protector)
Rammer

Spark arrester
Fuel gauge
Remote choke lever
Control base Manual

Remote Internal
Internal S
EXP
Norton

Fixed throttle operation
Charge coil 1 A

3 A
7 A

Lamp coil 12 V - 15 W
12 V - 25 W
12 V - 50 W

Combination switch
Starter motor
Oil level switch
Engine stop switch
Oil Alert® unit
Circuit protector
Auto throttle
Reduction Gear (1/6)

Chain (1/2) Without clutch
With clutch
Camshaft P.T.O.

Chain (1/1)



SPECIFICATIONS

P.T.O. type VE W WB
Type VED VED3 W1B0 WMK WB1

Air cleaner Dual
Dual silent
Cyclone
Low profile
Oil bath
Semi dry
Rammer

Muffler Standard
Standard (With lower protector)
Silent
Low profile
Low profile (With protector)
Rammer

Spark arrester
Fuel gauge
Remote choke lever
Control base Manual

Remote Internal
Internal S
EXP
Norton

Fixed throttle operation
Charge coil 1 A

3 A
7 A

Lamp coil 12 V - 15 W
12 V - 25 W
12 V - 50 W

Combination switch
Starter motor
Oil level switch
Engine stop switch
Oil Alert® unit
Circuit protector
Auto throttle
Reduction Gear (1/6)

Chain (1/2) Without clutch
With clutch
Camshaft P.T.O.

Chain (1/1)



SPECIFICATIONS

GX200T2

P.T.O. type L N Q
Type LHB2 LJG LSK NJG NW QAPW QHB1 QHP1 QM QMP4 QTB

Air cleaner Dual
Dual silent
Cyclone
Low profile
Oil bath
Semi dry
Rammer

Muffler Standard
Standard (With lower protector)
Silent
Low profile
Low profile (With protector)
Rammer

Spark arrester
Fuel gauge
Remote choke lever
Control base Manual

Remote Internal
Internal S
EXP
Norton

Fixed throttle operation
Charge coil 1 A

3 A
7 A

Lamp coil 12 V - 15 W
12 V - 25 W
12 V - 50 W

Combination switch
Starter motor
Oil level switch
Engine stop switch
Oil Alert® unit
Circuit protector
Auto throttle
Reduction Gear (1/6)

Chain (1/2) Without clutch
With clutch
Camshaft P.T.O.

Chain (1/1)



SPECIFICATIONS

P.T.O. type Q S V
Type QTD QTN QX SJG SM11 SMG1 SMG2 VHB VSP VSW VX

Air cleaner Dual
Dual silent
Cyclone
Low profile
Oil bath
Semi dry
Rammer

Muffler Standard
Standard (With lower protector)
Silent
Low profile
Low profile (With protector)
Rammer

Spark arrester
Fuel gauge
Remote choke lever
Control base Manual

Remote Internal
Internal S
EXP
Norton

Fixed throttle operation
Charge coil 1 A

3 A
7 A

Lamp coil 12 V - 15 W
12 V - 25 W
12 V - 50 W

Combination switch
Starter motor
Oil level switch
Engine stop switch
Oil Alert® unit
Circuit protector
Auto throttle
Reduction Gear (1/6)

Chain (1/2) Without clutch
With clutch
Camshaft P.T.O.

Chain (1/1)



SPECIFICATIONS

P.T.O. type VE
Type VEN VES VES1

Air cleaner Dual
Dual silent
Cyclone
Low profile
Oil bath
Semi dry
Rammer

Muffler Standard
Standard (With lower protector)
Silent
Low profile
Low profile (With protector)
Rammer

Spark arrester
Fuel gauge
Remote choke lever
Control base Manual

Remote Internal
Internal S
EXP
Norton

Fixed throttle operation
Charge coil 1 A

3 A
7 A

Lamp coil 12 V - 15 W
12 V - 25 W
12 V - 50 W

Combination switch
Starter motor
Oil level switch
Engine stop switch
Oil Alert® unit
Circuit protector
Auto throttle
Reduction Gear (1/6)

Chain (1/2) Without clutch
With clutch
Camshaft P.T.O.

Chain (1/1)



dummyheaddummyhead

SPECIFICATIONS GX120•GX160•GX200UT2

DIMENSIONS AND WEIGHTS SPECIFICATIONS

*: P. T. O. type. (page 1-2)

P.T.O. type GX120UT2 GX160UT2 GX200UT2
Overall length H * 370 mm (14.6 in) 377 mm (14.8 in) 386 mm (15.2 in)

L * 332 mm (13.1 in) 343 mm (13.5 in) 352 mm (13.9 in)
P, Q, T * 305.5 mm (12.03 in) 312.5 mm (12.30 in) 321.5 mm (12.66 in)

R * 384 mm (15.1 in) 391 mm (15.4 in) 400 mm (15.7 in)
S * 297 mm (11.7 in) 304 mm (12.0 in) 313 mm (12.3 in)
U * 309.8 mm (12.20 in) 316.8 mm (12.47 in) –
V * 315.5 mm (12.42 in) 322.5 mm (12.70 in) 331.5 mm (13.05 in)
W * 317.5 mm (12.50 in) 329.5 mm (12.97 in) –

Overall width H * 346 mm (13.6 in) 362 mm (14.3 in) 376 mm (14.8 in)
L * 346 mm (13.6 in) 362 mm (14.3 in) 376 mm (14.8 in)

P, Q, T * 346 mm (13.6 in) 362 mm (14.3 in) 376 mm (14.8 in)
R * 346 mm (13.6 in) 362 mm (14.3 in) 376 mm (14.8 in)
S * 346 mm (13.6 in) 362 mm (14.3 in) 376 mm (14.8 in)
U * 346 mm (13.6 in) 362 mm (14.3 in) –
V * 346 mm (13.6 in) 362 mm (14.3 in) 376 mm (14.8 in)
W * 346 mm (13.6 in) 362 mm (14.3 in) –

Overall height H * 329 mm (13.0 in) 346 mm (13.6 in) 346 mm (13.6 in)
L * 329 mm (13.0 in) 346 mm (13.6 in) 346 mm (13.6 in)

P, Q, T * 329 mm (13.0 in) 346 mm (13.6 in) 346 mm (13.6 in)
R * 329 mm (13.0 in) 346 mm (13.6 in) 346 mm (13.6 in)
S * 329 mm (13.0 in) 346 mm (13.6 in) 346 mm (13.6 in)
U * 329 mm (13.0 in) 346 mm (13.6 in) –
V * 329 mm (13.0 in) 346 mm (13.6 in) 346 mm (13.6 in)
W * 329 mm (13.0 in) 346 mm (13.6 in) –

Dry weight H * 15.5 kg (34.2 lbs) 17.6 kg (38.8 lbs) 18.6 kg (41.0 lbs)
L * 14.0 kg (30.9 lbs) 16.1 kg (35.5 lbs) 17.1 kg (37.7 lbs)

P, Q, T * 13.0 kg (28.7 lbs) 15.1 kg (33.3 lbs) 16.1 kg (35.5 lbs)
R * 18.0 kg (39.7 lbs) 20.0 kg (44.1 lbs) 21.0 kg (46.3 lbs)
S * 13.0 kg (28.7 lbs) 15.1 kg (33.3 lbs) 16.1 kg (35.5 lbs)
U * 13.0 kg (28.7 lbs) 15.1 kg (33.3 lbs) –
V * 13.0 kg (28.7 lbs) 15.1 kg (33.3 lbs) 16.1 kg (35.5 lbs)
W * 13.0 kg (28.7 lbs) 15.1 kg (33.3 lbs) –

Operating weight H * 18.0 kg (39.7 lbs) 21.1 kg (46.5 lbs) 22.1 kg (48.7 lbs)
L * 16.5 kg (36.4 lbs) 19.6 kg (43.2 lbs) 20.6 kg (45.4 lbs)

P, Q, T * 15.5 kg (34.2 lbs) 18.6 kg (41.0 lbs) 19.6 kg (43.2 lbs)
R * 21.0 kg (46.3 lbs) 24.0 kg (52.9 lbs) 25.0 kg (55.1 lbs)
S * 15.5 kg (34.2 lbs) 18.6 kg (41.0 lbs) 19.6 kg (43.2 lbs)
U * 15.5 kg (34.2 lbs) 18.6 kg (41.0 lbs) –
V * 15.5 kg (34.2 lbs) 18.6 kg (41.0 lbs) 19.6 kg (43.2 lbs)
W * 15.5 kg (34.2 lbs) 18.6 kg (41.0 lbs) –







SPECIFICATIONS

DIMENSIONS AND WEIGHTS SPECIFICATIONS

*: P. T. O. type (page 1-2).

P.T.O. type GX120T2 GX160T2 GX200T2
Overall length KR* 313 mm (12.3 in) – –

L* 332 mm (13.1 in) 343 mm (13.5 in) 352 mm (13.9 in)
N* – 288.8 mm (11.37 in) 312 mm (12.3 in)
Q* 305.5 mm (12.03 in) 312.5 mm (12.30 in) 321.5 mm (12.66 in)
R* – 391 mm (15.4 in) –
S* 297 mm (11.7 in) 304 mm (12.0 in) 313 mm (12.3 in)
T* 305.5 mm (12.03 in) – –
V* 315.5 mm (12.42 in) 322.5 mm (12.70 in) 331.5 mm (13.05 in)

VE* – – 290.1 mm (11.42 in)
W* 317.5 mm (12.50 in) 329.5 mm (12.97 in) –

WB* 284.5 mm (11.20 in) 291.5 mm (11.48 in) –
Overall width KR* 331 mm (13.0 in) – –

L* 346 mm (13.6 in) 362 mm (14.3 in) 376 mm (14.8 in)
N* – 362 mm (14.3 in) 376 mm (14.8 in)
Q* 346 mm (13.6 in) 362 mm (14.3 in) 376 mm (14.8 in)
R* – 362 mm (14.3 in) –
S* 346 mm (13.6 in) 362 mm (14.3 in) 376 mm (14.8 in)
T* 346 mm (13.6 in) – –
V* 346 mm (13.6 in) 362 mm (14.3 in) 376 mm (14.8 in)

VE* – – 376 mm (14.8 in)
W* 346 mm (13.6 in) 362 mm (14.3 in) –

WB* 346 mm (13.6 in) 362 mm (14.3 in) –
Overall height KR* 321 mm (12.6 in) – –

L* 318 mm (12.5 in) 335 mm (13.2 in) 335 mm (13.2 in)
N* – 335 mm (13.2 in) 335 mm (13.2 in)
Q* 318 mm (12.5 in) 335 mm (13.2 in) 335 mm (13.2 in)
R* – 335 mm (13.2 in) –
S* 318 mm (12.5 in) 335 mm (13.2 in) 335 mm (13.2 in)
T* 318 mm (12.5 in) – –
V* 318 mm (12.5 in) 335 mm (13.2 in) 335 mm (13.2 in)

VE* – – 335 mm (13.2 in)
W* 318 mm (12.5 in) 335 mm (13.2 in) –

WB* 318 mm (12.5 in) 335 mm (13.2 in) –
Dry weight KR* 16.5 kg (36.4 lbs) – –

L* 14.0 kg (30.9 lbs) 16.1 kg (35.5 lbs) 17.1 kg (37.7 lbs)
N* – 15.1 kg (33.3 lbs) 16.1 kg (35.5 lbs)
Q* 13.0 kg (28.7 lbs) 15.1 kg (33.3 lbs) 16.1 kg (35.5 lbs)
R* – 20.0 kg (44.1 lbs) –
S* 13.0 kg (28.7 lbs) 15.1 kg (33.3 lbs) 16.1 kg (35.5 lbs)
T* 13.0 kg (28.7 lbs) – –
V* 13.0 kg (28.7 lbs) 15.1 kg (33.3 lbs) 16.1 kg (35.5 lbs)

VE* – – 16.1 kg (35.5 lbs)
W* 13.0 kg (28.7 lbs) 15.1 kg (33.3 lbs) –

WB* 13.0 kg (28.7 lbs) 15.1 kg (33.3 lbs) –
Operating
weight

KR* 16.9 kg (37.3 lbs) – –
L* 16.5 kg (36.4 lbs) 19.6 kg (43.2 lbs) 20.6 kg (45.4 lbs)
N* – 18.6 kg (41.0 lbs) 19.6 kg (43.2 lbs)
Q* 15.5 kg (34.2 lbs) 18.6 kg (41.0 lbs) 19.6 kg (43.2 lbs)
R* – 24.0 kg (52.9 lbs) –
S* 15.5 kg (34.2 lbs) 18.6 kg (41.0 lbs) 19.6 kg (43.2 lbs)
T* 15.5 kg (34.2 lbs) – –
V* 15.5 kg (34.2 lbs) 18.6 kg (41.0 lbs) 19.6 kg (43.2 lbs)

VE* – – 19.6 kg (43.2 lbs)
W* 15.5 kg (34.2 lbs) 18.6 kg (41.0 lbs) –

WB* 15.5 kg (34.2 lbs) 18.6 kg (41.0 lbs) –



dummyheaddummyhead

GX120•GX160•GX200UT2 SPECIFICATIONS

ENGINE SPECIFICATIONS

*1: The power rating of the engine indicated in this document is the net power output tested on a production engine for the engine
model and measured in accordance with SAE J1349 at 3,600 rpm (net power) and at 2,500 rpm (max net torque). Mass production
engines may vary from this value. Actual power output for the engine installed in the final machine will vary depending on numerous
factors, including the operating speed of the engine in application, environmental conditions, maintenance, and other variables.

Model GX120UT2 GX160UT2 GX200UT2
Description code GCBMT GCBPT GCBTT
Type 4 stroke, overhead valve, single cylinder, inclined by 25° 
Displacement 118 cm3 (7.2 cu–in) 163 cm3 (9.9 cu–in) 196 cm3 (12.0 cu–in)
Bore x stroke 66.0 x 42.0 mm

(2.60 x 1.65 in)
68.0 x 45.0 mm
(2.68 x 1.77 in)

68.0 x 54.0 mm
(2.68 x 2.13 in)

Net power (SAE J1349) *1 2.6 kW (3.5 HP)/
3,600 min-1 (rpm)

3.6 kW (4.9 HP)/
3,600 min-1 (rpm)

4.1 kW (5.6 HP)/
3,600 min-1 (rpm)

Continuous rated power 2.1 kW (2.9 HP)/
3,600 min-1 (rpm)

2.9 kW (3.9 HP)/
3,600 min-1 (rpm)

3.7 kW (5.0 HP)/
3,600 min-1 (rpm)

Maximum net torque
(SAE J1349) *1

7.3 N·m (0.7 kgf·m, 5.4 
lbf·ft)/2,500 min-1 (rpm)

10.3 N·m (1.1 kgf·m, 7.6 
lbf·ft)/2,500 min-1 (rpm)

12.4 N·m (1.3 kgf·m, 9 
lbf·ft)/2,500 min-1 (rpm)

Compression ratio 8.5 : 1 9.0 : 1 8.5 : 1
Fuel consumption (at 
continuous rated power)

1.0 Liter (0.26 US gal, 0.22 
Imp gal)/h

1.4 Liters (0.37 US gal, 
0.31 Imp gal)/h

1.7 Liters (0.45 US gal, 
0.37 Imp gal)/h

Ignition system C.D.I. (Capacitor Discharge Ignition) type magneto ignition
Ignition timing B.T.D.C. 20°/

1,400 min-1 (rpm)
B.T.D.C. 18°/

1,400 min-1 (rpm)
B.T.D.C. 20°/

1,400 min-1 (rpm)
Recommended spark plug BPR6ES (NGK)/W20EPR-U (DENSO)
Lubrication system Forced splash
Oil capacity 0.56 Liter

(0.59 US qt, 0.49 Imp qt)
0.58 Liter

(0.61 US qt, 0.51 Imp qt)
0.60 Liter

(0.63 US qt, 0.53 Imp qt)
Recommended oil SAE 10W-30 API service category SJ or higher
Cooling system Forced air
Starting system Recoil Starter Recoil or Recoil and 

electric starter
Recoil or Recoil and 

electric starter
Stopping system Ignition exciter coil circuit open
Carburetor Horizontal type, butterfly valve
Air cleaner Dual type, Dual silent type, Semi dry type,

Oil bath type, Cyclone type
Dual silent type,
Cyclone type

Governor Mechanical centrifugal
Breather system Reed valve type
Fuel used Unleaded gasoline with a pump octane rating 86 or higher
Fuel tank capacity 2.0 Liters

(0.53 US gal, 0.44 Imp gal) 3.1 Liters (0.82 US gal, 0.68 Imp gal)

Reduction
case oil 
capacity

Gear type 0.15 Liter (0.16 US qt, 0.13 Imp qt)
Chain type 
(without
clutch)

Shared with engine oil

Chain type 
(with clutch) 0.50 Liter (0.53 US qt, 0.44 Imp qt)

Clutch Type Centrifugal
Engagement
start 1,800 min-1 (rpm)

Lock 2,200 min-1 (rpm)





SPECIFICATIONS

ENGINE SPECIFICATIONS

*1: The power rating of the engine indicated in this document is the net power output tested on a production engine for the engine
model and measured in accordance with SAE J1349 at 3,600 rpm (net power) and at 2,500 rpm (max net torque). Mass production
engines may vary from this value. Actual power output for the engine installed in the final machine will vary depending on numerous
factors, including the operating speed of the engine in application, environmental conditions, maintenance, and other variables.

*2: When tilted at 14°

Model GX120T2 GX160T2 GX200T2
Description code GCBNT GCBST GCBUT
Type 4 stroke, overhead valve, single cylinder, inclined by 25° 
Displacement 118 cm3 (7.2 cu-in) 163 cm3 (9.9 cu-in) 196 cm3 (12.0 cu-in)
Bore x stroke 60.0 x 42.0 mm

(2.36 x 1.65 in)
68.0 x 45.0 mm
(2.68 x 1.77 in)

68.0 x 54.0 mm
(2.68 x 2.13 in)

Net power (SAE J1349) *1 2.6 kW (3.5 HP)/
3,600 min-1 (rpm)

3.6 kW (4.8 HP)/
3,600 min-1 (rpm)

4.1 kW (5.5 HP)/
3,600 min-1 (rpm)

Continuous rated power 2.1 kW (2.8 HP)/
3,600 min-1 (rpm)

2.9 kW (3.9 HP)/
3,600 min-1 (rpm)

3.7 kW (5.0 HP)/
3,600 min-1 (rpm)

Maximum net torque
(SAE J1349) *1

7.3 N·m (0.7 kgf·m, 5.4 
lbf·ft)/2,500 min-1 (rpm)

10.3 N·m (1.1 kgf·m, 7.6 
lbf·ft)/2,500 min-1 (rpm)

12.4 N·m (1.3 kgf·m, 9 
lbf·ft)/2,500 min-1 (rpm)

Compression ratio 8.5 : 1 9.0 : 1 8.5 : 1
Fuel consumption
(at continuous rated power)

1.0 Liter (0.26 US gal,
0.22 Imp gal)/h

1.4 Liters (0.37 US gal,
0.31 Imp gal)/h

1.7 Liters (0.45 US gal,
0.37 Imp gal)/h

Ignition system C.D.I. (Capacitor Discharge Ignition) type magneto ignition
Ignition timing B.T.D.C. 20°/

1,400 min-1 (rpm)
B.T.D.C. 18°/

1,400 min-1 (rpm)
B.T.D.C. 20°/

1,400 min-1 (rpm)
Recommended
spark plug

Except
rammer type BPR6ES (NGK)/W20EPR-U (DENSO)

Rammer type BPR4ES (NGK)/
W14EPR-U (DENSO) – –

Lubrication system Forced splash
Oil capacity Except

rammer type
0.56 Liter (0.59 US qt, 

0.49 Imp qt)
0.58 Liter (0.61 US qt, 

0.51 Imp qt)
0.60 Liter (0.63 US qt, 

0.53 Imp qt)
Rammer type 0.40 Liter (0.42 US qt, 

0.35 Imp qt) *2 – –

Recommended oil SAE 10W-30 API service classification SJ or higher
Cooling system Forced air
Starting system Recoil Starter Recoil, Recoil and Starter motor
Stopping system Ignition exciter coil circuit open
Carburetor (Rammer type) Horizontal type, butterfly 

valve (float valve) Horizontal type, butterfly valve

Air cleaner (Rammer type) Dual type, Dual silent 
type, Low profile type,
Semi dry type, Oil bath 
type, (Rammer type)

Dual type, Dual silent 
type, Low profile type,
Semi dry type, Oil bath 

type

Dual silent type,
Low profile type,

Semi dry type, Oil bath 
type

Governor Mechanical centrifugal
Breather system Reed valve type
Fuel used Unleaded gasoline with a pump octane rating 86 or higher
Fuel tank capacity 2.0 Liters (0.53 US gal, 

0.44 Imp gal) 3.1 Liters (0.82 US gal, 0.68 Imp gal)

Reduction case 
oil capacity

Chain type 
(Without clutch) Shared with engine oil

Chain type
(With clutch) – 0.50 Liter (0.53 US qt, 

0.44 Imp qt) –

Camshaft P.T.O. – Shared with engine oil
Clutch Type – Centrifugal –

Engagement
start – 1,800 min-1 (rpm) –

Lock – 2,200 min-1 (rpm) –



dummyheaddummyhead

SPECIFICATIONS GX120•GX160•GX200UT2

PERFORMANCE CURVES
GX120

(lbf·ft) (kgf·m)(N·m)

7.5

7.0

6.5

(kW)

2

1

0

3

TO
R
Q
U

E
O
U
TP

U
T

(HP) (PS)

5.5

5.0 0.70

0.75

4

3

2

1

0

4

3

2

1

0

NET POWER

NET TORQUE

RECOMMENDED OPERATING SPEED RANGE

2000 3000 3600

ENGINE SPEED (rpm)



dummyheaddummyhead

GX120•GX160•GX200UT2 SPECIFICATIONS

GX160

(lbf·ft) (kgf·m)(N·m)
11

10

9

(kW)

2

1

0

3

TO
R
Q
U

E
O
U
TP

U
T

(HP) (PS)

8.0

7.0

1.1

4

3

2

1

0

NET POWER

NET TORQUE

RECOMMENDED OPERATING SPEED RANGE

2000 3000 3600

ENGINE SPEED (rpm)

7.5
1.0

0.9

5 5

4

3

2

1

0

4



dummyheaddummyhead

SPECIFICATIONS GX120•GX160•GX200UT2

GX200

(lbf·ft) (kgf·m)(N·m)
13

(kW)

2

1

0

3

TO
R
Q
U

E
O
U
TP

U
T

(HP) (PS)

9.5

1.1

4

3

2

1

0

6

3

2

1

0

NET POWER

NET TORQUE

RECOMMENDED OPERATING SPEED RANGE

2000 3000 3600

ENGINE SPEED (rpm)

5

6

4

5

4

5

12

11

10

9.0

8.5

8.0

1.2

1.3



dummyheaddummyhead

GX120•GX160•GX200UT2 SPECIFICATIONS

DIMENSIONAL DRAWINGS
*: P.T.O. type. (page 1-2)

GX120 (WITHOUT REDUCTION)

Unit: mm (in)

115 (4.5) 231 (9.1)

346 (13.6)

106 (4.2)

162 (6.4)

96 (3.8)

5 (0.2)

39.5 (5.56)

80 (3.1)

UT2: 329 
(13.0)

S type*: 75.5 (2.97)
U, W type*: 75.2 (2.96)

P type*: 305.5 (12.03)
Q type*: 305.5 (12.03)
S type*: 297 (11.7)
T type*: 305.5 (12.03)
U type*: 309.8 (12.20)
V type*: 315.5 (12.42)
W type*: 317.5 (12.50)

Standard: 91 (3.6)
Silent: 104 (4.1)

Dual/dual silent: 160 (6.3)
Cyclone: 166 (6.5)
Oil bath: 157 (6.2)
Semi dry: 156 (6.1) Dual/dual silent: 317 (12.5)

Cyclone/Oil bath: 330 (13.0)
Semi dry: 314 (12.4)



dummyheaddummyhead

SPECIFICATIONS GX120•GX160•GX200UT2

GX120 (WITH REDUCTION)

115 (4.5)

346 (13.6)

H, L type*: 106 (4.2)
R type*: 91.8 (3.61)

162 (6.4)

96 (3.8)

5 (0.2)

39.5 (5.56)

80 (3.1)

UT2: 329 
(13.0)

Unit: mm (in)

317
(12.5)

H type*: 45.1 (1.78)
L type*: 66.1 (2.60)
R type*: 89.7 (3.53) H type*: 185.9 (7.32)

L type*: 164.9 (6.49)
R type*: 141.3 (5.56)

91 (3.6) 160 (6.3)

H type*: 151.2 (5.95)
L type*: 110 (4.3)
R type*: 162.8 (6.41)

H type*: 370 (14.6)
L type*: 332 (13.1)
R type*: 384 (15.1)



dummyheaddummyhead

GX120•GX160•GX200UT2 SPECIFICATIONS

GX160 (WITHOUT REDUCTION)

Unit: mm (in)

239 (9.4)

419 (16.5)

106 (4.2)

162 (6.4)

96 (3.8)

5 (0.2)

39.5 (5.56)

80 (3.1)

UT2: 346 
(13.6)

S type*: 75.5 (2.97)
U, W type*: 75.2 (2.96)

P type*: 312.5 (12.30)
Q type*: 312.5 (12.30)
S type*: 304 (12.0)
T type*: 312.5 (12.30)
U type*: 316.8 (12.47)
V type*: 322.5 (12.70)
W type*: 329.5 (12.97)

Standard: 93 (3.7)
Silent: 106 (4.2)

Dual/dual silent: 160 (6.3)
Cyclone: 168 (6.6)
Oil bath: 159 (6.3)
Semi dry: 156 (6.1) Dual/dual silent: 337 (13.3)

Cyclone/Oil bath/Semi dry: 
333 (13.1)

123 (4.8)

362 (14.3)

121 (4.8)

70 (2.8)



dummyheaddummyhead

SPECIFICATIONS GX120•GX160•GX200UT2

GX160 (WITH REDUCTION)

123 (4.8)

H, L type*: 106 (4.2)
R type*: 91.8 (3.61)

162 (6.4)

96 (3.8)

5 (0.2)

39.5 (5.56)

80 (3.1)

Unit: mm (in)

337
(13.3)

H type*: 45.1 (1.78)
L type*: 66.1 (2.60)
R type*: 89.7 (3.53) H type*: 193.9 (7.63)

L type*: 172.9 (6.81)
R type*: 149.3 (5.88)

93 (3.7) 160 (6.3)

H type*: 151.2 (5.95)
L type*: 114.5 (4.51)
R type*: 162.8 (6.41)

H type*: 377 (14.8)
L type*: 343 (13.5)
R type*: 391 (15.4)

419 (16.5)

UT2: 346 
(13.6)

362 (14.3)

121 (4.8)

70 (2.8)



dummyheaddummyhead

GX120•GX160•GX200UT2 SPECIFICATIONS

GX200 (WITHOUT REDUCTION)

Unit: mm (in)

253 (10.0)

376 (14.8)

106 (4.2)

162 (6.4)

96 (3.8)

5 (0.2)

39.5 (5.56)

80 (3.1)

S type*: 75.5 (2.97)
U, W type*: 75.2 (2.96)

P type*: 321.5 (12.66)
Q type*: 321.5 (12.66)
S type*: 313 (12.3)
T type*: 321.5 (12.66)
V type*: 331.5 (13.05)

Dual/dual silent: 160 (6.3)
Cyclone: 168 (6.6)
Oil bath: 159 (6.3)
Semi dry: 156 (6.1) Dual/dual silent: 339 (13.3)

Cyclone/Oil bath/Semi dry: 
335 (13.2)

123 (4.8)

UT2: 346 
(13.6)

121 (4.8)

70 (2.8)

433 (17.0)
106 (4.2)



dummyheaddummyhead

SPECIFICATIONS GX120•GX160•GX200UT2

GX200 (WITH REDUCTION)

H, L type*: 106 (4.2)
R type*: 91.8 (3.61)

162 (6.4)

96 (3.8)
5 (0.2)

39.5 (5.56)

80 (3.1)

Unit: mm (in)

339
(13.3)

H type*: 207.9 (8.19)
L type*: 186.9 (7.36)
R type*: 163.3 (6.43)

106 (4.2) 160 (6.3)

H type*: 386 (15.2)
L type*: 352 (13.9)
R type*: 400 (15.7)

123 (4.8)

121 (4.8)

70 (2.8)

H type*: 45.1 (1.78)
L type*: 66.1 (2.60)
R type*: 89.7 (3.53)

H type*: 151.2 (5.95)
L type*: 114.5 (4.51)
R type*: 162.8 (6.41)

376 (14.8)

UT2: 346 
(13.6)

433 (17.0)





*: P.T.O. type. (page 1-2)

Unit: mm (in)

188 (7.4)

34
(1.3)

78
(3.1)

102.6
(4.04)

43 (1.7)
102.6 (4.04)

31 (1.2)
M12 x 1.25

3.70 – 3.80
(0.146 – 0.150)

4.00 – 4.03
(0.157 – 0.159)

100.000 – 100.054
(3.9370 – 3.9391)

14.976 – 14.994
(0.5896 – 0.5903)

Unit: mm (in)

88 (3.5)

M8 x 1.25

TAPER 1/5

M8 x 1.25

24.947 – 24.980 (0.9822 – 0.9835)

74 (2.9)

20 (0.8)

27.3 (1.07)

30.3 (1.19)

65.1
(2.56)

45°45°

M8 x 1.25 (4 PLACES)

CRANKSHAFT (P.T.O.)

VE type*



SPECIFICATIONS

DIMENSIONAL DRAWINGS
*: P.T.O. type (page 1-2).

EXCEPT LOW PROFILE TYPE

Unit: mm (in)

239 (9.4)

317 (12.5)

160 (6.3)

106
(4.2)

75.5 (2.97)

162 (6.4)

96 (3.8)

5 (0.2)

39.5 (1.56)

80 (3.1)

108 (4.3)

347 (13.7) 93 (3.7)

Q type*: 321.5 (12.30)
S type*: 304 (12.0)
V type*: 322.5 (12.70)











SPECIFICATIONS

P.T.O. DIMENSIONAL DRAWINGS
*: P.T.O. type (page 1-2).

Unit: mm (in)

88 (3.5)
M8 x 1.25
(4 PLACES)

CRANKSHAFT (P.T.O.)

VE type*

74 (2.9)

24.947 – 24.980
(0.9822 – 0.9835)

20 (0.8)

3.954 (0.1557)

5.9 – 6.0
(0.23 – 0.24)

M8 x 1.25

TAPER 1/5
30.3 (1.19)

65.1
(2.56)

M8 x 1.25
45°45°

Unit: mm (in)

36.5 (1.44)

19.972 – 19.993
(0.7863 – 0.7871)

M8 x 1.25

50 (2.0)

52.5 (2.07)

23 (0.9)

41.25 (1.624)

65.1 (2.56)

65.1
(2.56)

50.1 (1.97)

51.5 (2.03)

P.T.O. SHAFT

N type*

M8 x 1.25 (6 PLACES)

62 (2.4)

33.1 (1.30)

5.00 – 5.03
(0.197 – 0.198)

16.90 – 17.00
(0.665 – 0.669)















SERVICE INFORMATION
SERVICE INFORMATIONMAINTENANCE STANDARDS

Part Item Standard Service limit
Carburetor Main jet BE54C A #70

BE54D A #68 –
BE67W A #75 –

Pilot screw opening BE54C A 2-1/4 turns out 
BE54D A 1-7/8 turns out –
BE67W A 2-7/8 turns out –

Float height 13.7 mm (0.54 in) –



SERVICE INFORMATION
SERVICE INFORMATIONMAINTENANCE STANDARDS
GX120T2

GX160T2

Part Item Standard Service limit
Carburetor Main jet BE60N A #62 –

BE60W A #62 –
BE60Y A #62 –
BE60Z A #60 –
BE61L A #62 –
BE61M A #62 –
BE61N A #60 –
BE62J A #62 –
BE99A A #60 –
BE99D A #62 –

Pilot screw opening BE60N A 2-1/8 turns out –
BE60W A 2-1/8 turns out –
BE60Y A 2-1/8 turns out –
BE60Z A 1-5/8 turns out –
BE61L A 2-1/8 turns out –
BE61M A 2-1/8 turns out –
BE61N A 1-5/8 turns out –
BE62J A 1-1/2 turns out –
BE99A A 1-5/8 turns out –
BE99D A 2-1/8 turns out –

Float height BE60N A 13.7 mm (0.54 in) –
BE60W A 13.7 mm (0.54 in) –
BE60Y A 13.7 mm (0.54 in) –
BE60Z A 13.7 mm (0.54 in) –
BE61L A 13.7 mm (0.54 in) –
BE61M A 13.7 mm (0.54 in) –
BE61N A 13.7 mm (0.54 in) –
BE62J A 18.7 mm (0.74 in) –
BE99A A 13.7 mm (0.54 in) –
BE99D A 13.7 mm (0.54 in) –

Part Item Standard Service limit
Carburetor Main jet BE54D A #68 –

BE54G A #70 –
BE54H A #68 –
BE54J A #68 –
BE54K A #68 –
BE54M A #70 –
BE54P A #70 –
BE54Q A #70 –
BE66U A #68 –
BE66V A #68 –
BE67V A #75 –

Pilot screw opening BE54D A 1-7/8 turns out –
BE54G A 2 turns out –
BE54H A 1-7/8 turns out –
BE54J A 1-7/8 turns out –
BE54K A 1-7/8 turns out –
BE54M A 2-1/2 turns out –
BE54P A 2-1/2 turns out –
BE54Q A 2-1/2 turns out –
BE66U A 1-7/8 turns out –
BE66V A 1-7/8 turns out –
BE67V A 2-7/8 turns out –

Float height 13.7 mm (0.54 in) –



SERVICE INFORMATION
GX200T2

Part Item Standard Service limit
Carburetor Main jet BE59L A #75 –

BE59M A #75 –
BE59N A #75 –
BE59Q A #75 –
BE59S A #75 –
BE59U A #75 –
BE59V A #75 –
BE59W A #75 –
BE69D A #75 –
BE74W A #78 –
BE74Y A #78 –

Pilot screw opening BE59L A 1-7/8 turns out –
BE59M A 1-7/8 turns out –
BE59N A 1-7/8 turns out –
BE59Q A 1-7/8 turns out –
BE59S A 2-1/4 turns out –
BE59U A 2-1/4 turns out –
BE59V A 2-1/4 turns out –
BE59W A 2-1/4 turns out –
BE69D A 2-1/4 turns out –
BE74W A 2-3/4 turns out –
BE74Y A 2-3/4 turns out –

Float height 13.7 mm (0.54 in) –





(*
) R

ef
er

 to
 p

ag
e 

of
 b

as
e 

sh
op

 m
an

ua
l (

G
X
12

0U
T2

/1
60

U
T2

/2
00

U
T2

).

O
th

er
 it

em
s 

sh
ou

ld
 b

e 
tig

ht
en

ed
 to

 s
ta

nd
ar

d 
to

rq
ue

 v
al

ue
s 
(p

ag
e 
2-

6*
).

C
on

ne
ct

in
g 

tu
be

 b
an

d 
sc

re
w

M
4 

x 
0.

7
2

0.
2

1.
5

A
ir 

cl
ea

ne
r e

lb
ow

 n
ut

M
6 

x 
1.
0

9
0.
9

6.
6

A
ir 

cl
ea

ne
r m

ou
nt

in
g 

bo
lt

M
6 

x 
1.
0

12
1.
2

9
M

uf
fle

r s
ta

y 
bo

lt
M
8 

x 
1.
25

24
2.
4

18
M

uf
fle

r s
ta

y 
bo

lt
M

6 
x 
1.
0

12
1.
2

9
M

uf
fle

r s
ta

y 
nu

t
M

6 
x 
1.
0

12
1.
2

9
M

uf
fle

r n
ut

M
8 

x 
1.
25

24
2.
4

18
C

ra
nk

ca
se

 c
ov

er
 b

ol
t

M
6 

x 
1.
0

12
1.
2

9
A

ut
o 

th
ro

ttl
e 

so
le

no
id

 s
cr

ew
M

5 
x 
0.
8

5
0.

5
3.

7
R

eg
ul

at
or

/re
ct

ifi
er

 b
ol

t
M

6 
x 
1.
0

10
1.
0

7











































































FUEL SYSTEM
FUEL SYSTEMFUEL TANK REMOVAL/INSTALLATION
(*) Refer to page of base shop manual (GX120UT2/
160UT2/200UT2).

Remove the fan cover (page 5-2*).

Remove the starter motor (page 10-7*).

Place a suitable container under the carburetor.

Turn the fuel valve lever [1] to the ON position.

Loosen the drain screw [2] and drain the fuel.

 • Route the fuel tube properly (page 2-11*).

Gasoline is highly flammable and explosive. You
can be burned or seriously injured when handling
fuel.
 • Keep heat, sparks, and flame away.
 • Handle fuel only outdoors.
 • Wipe up spills immediately.

Starter motor type:
[1]

[2]

FUEL FILTER (If equipped)

FUEL TANK JOINT

FUEL TANK BOLT (6 x 29 mm)

FUEL FILLER CAP

CHECK:
Check the fuel filter for clogs or damage.

O-RING

FUEL TANK

FUEL TUBE
CHECK:
Check for deterioration or cracks.

FUEL FILLER CAP PACKING
CHECK:
Check for deterioration or cracks.

FUEL TANK NUT (6 mm) (2)
10 N·m (1.0 kgf·m, 7 lbf·ft)

10 N·m (1.0 kgf·m, 7 lbf·ft)

CHECK:
Check the screen of the fuel tank 
joint for clogs or damage.

2 N·m (0.2 kgf·m, 1.5 lbf·ft)

FUEL GAUGE 
(GX160T2/GX200T2)

SCREW (5 x 10 mm) (2)

FUEL GAUGE (GX120T2)

If equipped:

















FUEL SYSTEM
FUEL SYSTEMAIR CLEANER REMOVAL/

INSTALLATION
REMOTE CHOKE LEVER TYPE
(*) Refer to page of base shop manual (GX120UT2/
160UT2/200UT2).

 • Route the breather tube properly (page 2-11*).

Viewed from air cleaner side

INSTALLATION:
Before installing, check for damage.
Note the installation direction.

CARBURETOR SPACER
AIR CLEANER COVER

NUTINSTALLATION:
Install the air cleaner cover with the long 
skirt portion facing toward the front.

 WING NUT 
GROMMET

INNER FILTER (PAPER) OUTER FILTER 
(FOAM)

NOISE SILENCER

AIR CLEANER
ELBOW SEAL

BREATHER TUBE

COLLAR

9 N·m (0.9 kgf·m, 6.6 lbf·ft)
AIR CLEANER ELBOW NUT (6 mm) (2)

 SCREW (5 x 8 mm)

CIRCLIP

CABLE
HOLDER

 SCREW (4 x 8 mm)

WIRE
HOLDER

 BOLT (6 x 20 mm)

AIR CLEANER ELBOW
REMOVAL/INSTALLATION:
Remove and install the air 
cleaner elbow with the remote 
choke lever in the CLOSE 
position.
Before installation, clean the 
inside of the air cleaner elbow.

AIR CLEANER COLLAR (2)

CHOKE CONTROL STAY

REMOTE CABLE
(Commercially available)









FUEL SYSTEM

CARBURETOR DISASSEMBLY/
ASSEMBLY

REMOTE CHOKE LEVER TYPE
(*) Refer to page of base shop manual (GX120UT2/
160UT2/200UT2).

Remove the following:

– Air cleaner (page 6-2)
– Carburetor (page 6-10*)

Before disassembly, clean the outside of the carburetor.

Gasoline is highly flammable and explosive. You
can be burned or seriously injured when handling
fuel.
 • Keep heat, sparks, and flame away.
 • Handle fuel only outdoors.
 • Wipe up spills immediately.

To prevent serious eye injury, always wear safety
goggles or other eye protection when using com-
pressed air.

ASSEMBLY:
Before installing, clean 
thoroughly with low-
pressure compressed air.

PILOT JET SET

MAIN NOZZLE

MAIN JET

ASSEMBLY:
Before installing, clean 
thoroughly with low-pressure 
compressed air.
Lightly lubricate the O-ring 
[1] to ensure easy installation 
into the carburetor body.

ASSEMBLY:
Before installing, clean 
thoroughly with low 
compressed air.

FLOAT CHAMBER

ASSEMBLY:
Install the float chamber to the 
carburetor body at an angle as shown.

UPPER
SIDE

UPPER
SIDE

PILOT SCREW 

THROTTLE STOP SCREW

REMOVAL/INSTALLATION:
(page 3-10*)

ADJUSTMENT: (page 3-13*)

O-RING

FLOAT

FLOAT PIN 

O-RING

SET BOLT

SET BOLT GASKET

SCREW (3 x 6 mm) (2)

REMOTE
CHOKE LEVER

LEVER SETTING PLATE

VALVE LEVER SPRING

FUEL VALVE LEVER

FUEL VALVE PACKING

CUP FILTER

CHECK:
Replace if necessary.

CARBURETOR BODY

O-RING

SEDIMENT CUP

FLOAT VALVE 

FLOAT VALVE SPRING

INSPECTION: (page 6-13*)

DRAIN SCREW GASKET

DRAIN SCREW

0 – 30°

3.9 N·m (0.4 kgf·m, 2.9 lbf·ft)

LIMITER
CAP

REPLACEMENT: (page 6-13*)

PILOT SCREW 
SPRING

[1]

RETURN SPRING

SPRING PIN

Tampering is a violation of Federal and 
California law.



FUEL SYSTEM

LOW PROFILE TYPE
(*) Refer to page of base shop manual (GX120UT2/
160UT2/200UT2).

Remove the carburetor (page 6-10*).

Before disassembly, clean the outside of the carburetor.

Gasoline is highly flammable and explosive. You
can be burned or seriously injured when handling
fuel.
 • Keep heat, sparks, and flame away.
 • Handle fuel only outdoors.
 • Wipe up spills immediately.

To prevent serious eye injury, always wear safety
goggles or other eye protection when using com-
pressed air.

FLOAT CHAMBER

ASSEMBLY:
Install the float chamber to the 
carburetor body at an angle as shown.

PILOT JET SET
ASSEMBLY:
Before installing, clean 
thoroughly with low-pressure 
compressed air.
Lightly lubricate the O-ring 
[1] to ensure easy installation 
into the carburetor body.

O-RING

THROTTLE STOP SCREW
ADJUSTMENT: (page 3-13*)

CHOKE LEVER

SPRING PIN

PILOT SCREW 

LIMITER CAP 

REPLACEMENT: (page 6-13*)

PILOT SCREW SPRING 

ASSEMBLY:
Before installing, clean 
thoroughly with low-
pressure compressed air.

MAIN NOZZLE

UPPER
SIDE

MAIN JET

ASSEMBLY:
Before installing, clean 
thoroughly with low 
compressed air.

UPPER
SIDE

300°

SET BOLT

SET BOLT GASKET

O-RING

DRAIN SCREW GASKET

DRAIN SCREW

FLOAT

FLOAT PIN 

FLOAT VALVE 

FLOAT VALVE SPRING

INSPECTION: (page 6-13*)

CARBURETOR BODY

VPM5 type:

FUEL
STRAINER

FUEL TUBE

CLIP

CLIP

FUEL TUBE

FUEL RUBBER

[1]

Tampering is a violation of Federal and 
California law.















dummyheaddummyhead

GOVERNOR SYSTEM
GOVERNOR SYSTEMGOVERNOR ARM/CONTROL BASE 

Assy. REMOVAL/INSTALLATION
INTERNAL S TYPE
(*) Refer to page of base shop manual (GX120UT2/
160UT2/200UT2).

Remove the air cleaner (page 6-2).

 • After installation, adjust the following:
– Governor (page 7-5*)
– Idle speed (page 3-13*)
– Maximum speed (page 7-7*)

SCREW
(5 x 16 mm)

REMOVAL/INSTALLATION:
Pull the carburetor to a point where the groove [1] 
of the throttle arm lines up with the governor rod 
[2], and then lift the governor rod out of the hole of 
the throttle arm and unhook the throttle return 
spring [3]. GOVERNOR SPRING

GOVERNOR ARM BOLT

GOVERNOR ARM
NUT (6 mm)

GOVERNOR ROD/THROTTLE RETURN SPRING

[2]

[3]

[1]
SCREW
(4 x 6 mm)

CONTROL BASE Assy.

BOLTS (6 x 12 mm)
CABLE HOLDER

REMOTE CABLE
(Commercially available)





























































































dummyheaddummyhead

MUFFLER
MUFFLERMUFFLER REMOVAL/INSTALLATION

STANDARD, SILENT TYPE

The muffler becomes very hot during operation and 
remains hot for a while after stopping the engine. 
Be careful not to touch the muffler while it is hot. 
Allow it to cool before proceeding.

MUFFLER PROTECTOR
SCREW (5 x 8 mm) (4)

SCREW
(4 x 6 mm)

BOLT (6 x 14 mm)

If equipped:

SPARK ARRESTER (If equipped)

MUFFLER

MUFFLER NUT (8 mm) (2)

EXHAUST PIPE GASKET

24 N·m (2.4 kgf·m, 18 lbf·ft)

If equipped:

If equipped:

SCREW
(4 x 6 mm) (3)

LOWER PROTECTOR

SCREW
(4 x 8 mm) (2)

MUFFLER GUIDE

DEFLECTOR

















































































dummyheaddummyhead

REDUCTION UNIT
REDUCTION UNITREDUCTION UNIT DISASSEMBLY/

ASSEMBLY
CHAIN (1/2) CAMSHAFT P.T.O. TYPE
(*) Refer to page of base shop manual (GX120UT2/
160UT2/200UT2).

Drain the engine oil (page 3-3*).

INSPECTION: (page 15-3)
INSTALLATION:
Align the timing marks [1] on the crankshaft [2] and 
camshaft [3] sprockets, install the drive chain [4] 
onto the sprockets, and install them into the cylinder 
barrel as a set.

VALVE LIFTER
(Pivot, pivot end and slipper surface)

PISTON Assy.
(Outer surface and big end bearing)

INSTALLATION:
Install the piston Assy. to the cylinder barrel with 
the mark [1] on the piston head toward the push 
rod hole [2] of the cylinder head.

(Cylinder inner surface)
CYLINDER BARREL

INSPECTION: (page 14-6*)

CONNECTING ROD LOWER

INSTALLATION:
Set the connecting rod lower with the oil dipper toward the camshaft.

(Big end bearing)

DOWEL PIN

CRANKSHAFT

INSPECTION: (page 14-6*)
INSTALLATION:
Be careful not to damage the oil seal lips.

(Pin and gear teeth)

REMOVAL:
Mark the valve lifters so that the intake and 
exhaust sides can be distinguished.

INSTALLATION:
Attach the valve lifters to the cylinder barrel 
immediately before installing the camshaft.

CAMSHAFT
INSPECTION: (page 14-6*)

P.T.O. SHAFT 
BEARING (6205)

CASE COVER 
PACKING

DRIVE CHAIN

BOLT (8 x 32 mm) (6)

P.T.O. SHAFT 
OIL SEAL

(Lips)

CRANKCASE COVER
INSTALLATION:
Be careful not to damage the oil seal lips.

OIL FILLER CAP PACKING
CHECK:
Replace if necessary.

OIL FILLER CAP
(With oil level gauge)

CRANKSHAFT
BEARING (6304)

(Lips)
OIL SEAL

CRANKSHAFT
BEARING (6205)

CONNECTING ROD BOLT (2)
(Threads and seating surface)

(6 x 34 mm)
10 N·m (1.0 kgf·m, 7 lbf·ft)
(7 x 34 mm)
12 N·m (1.2 kgf·m, 9 lbf·ft)

[1]

[2]

[1]

[2] [3]

[4]

GX160:

GX200:

(Cam profile and journal)



dummyheaddummyhead

REDUCTION UNIT

REDUCTION UNIT INSPECTION
CAMSHAFT, CRANKSHAFT, DRIVE 
CHAIN
Check the following for wear or damage:

– Camshaft (driven sprocket) [1]
– Crankshaft (drive sprocket) [2]
– Drive chain [3]

 • Replace the camshaft, crankshaft and, drive chain
as a set.

REDUCTION UNIT BEARING/OIL SEAL 
REPLACEMENT

CRANKCASE COVER SIDE BEARING
CRANKSHAFT BEARING (6304)

Pull out the crankshaft bearing [1] using the special
tools.

Drive a new crankshaft bearing [5] until it is fully seated
on the end using the special tools.

[1]

[2] [3]

TOOLS:
Bearing remover shaft set, 20 mm 
[2] 07936-3710600
Bearing remover shaft handle [3]07936-3710100
Sliding hammer weight [4] 07741-0010201

TOOLS:
Bearing driver attachment,
52 x 55 mm [6] 07746-0010400
Pilot, 20 mm [7] 07746-0040500
Driver handle [8] 07749-0010000 [1]

[2]

[3]

[8]

[6]

[4]

[5]

[7]



dummyheaddummyhead

REDUCTION UNIT
P.T.O. shaft bearing (6205)

Remove the oil seal and drive out the P.T.O. shaft
bearing.

Drive a new P.T.O. shaft bearing [1] until it is fully
seated on the end using the special tools.

P.T.O. SHAFT OIL SEAL
Remove the oil seal from the chain case cover.

Drive a new oil seal [1] in the position as shown using
the special tools.

TOOLS:
Bearing driver attachment,
52 x 55 mm [2] 07746-0010400
Pilot, 25 mm [3] 07746-0040600
Driver handle [4] 07749-0010000

[4]

[2]

[3] [1]

INSTALLATION HEIGHT: 1.5 mm (0.06 in)

TOOLS:
Bearing driver attachment,
37 x 40 mm [2] 07746-0010200
Driver handle [3] 07749-0010000

[2]
[1]

[3]














